
Combination +
width (cm)

Net weight 
Without 

packaging 
(kilos)

Gross weight
With packaging 

(kilos)

76 78

74 76

70 72

48
+ Relax : 68

50
+ Relax : 70

63 65

50 52

38
+ Relax : 65

40
+ Relax : 67

25
+ Relax : 52

27
+ Relax : 54

Technical description sheet
PEPE

Dimensions in packaging (cm)
Length x depth x height

202 x 107 x 69

220 x 107 x 69

170 x 107 x 69

176 x 107 x 69

195 x 107 x 69

114 x 107 x 69
+ Relax : 114 x 107 x 82 (legs mounted)

111 x 107 x 69
+ Relax : 111 x 107 x 82 (legs mounted)

86 x 107 x 69
+ Relax : 86 x 107 x 82 (legs mounted)



Combination +
width (cm)

Net weight 
Without 

packaging 
(kilos)

Gross weight
With packaging 

(kilos)

61 63

48 50

37
+ Relax : 61

39
+ Relax : 63

24
+ Relax : 48

26
+ Relax : 50

57 59

44 46

35
+ Relax : 55

37
+ Relax : 57

22
+ Relax : 42

24
+ Relax : 44

89 x 107 x 69
+ Relax : 89 x 107 x 69 (legs mounted)

64 x 107 x 69
+ Relax : 64 x 107 x 82 (legs mounted)

Dimensions in packaging (cm)
Length x depth x height

77 x 107 x 69
+ Relax : 77 x 107 x 82 (legs mounted)

152 x 107 x 69

126 x 107 x 69

102 x 107 x 69
+ Relax : 102 x 107 x 82 (legs mounted)

151 x 107 x 69

177 x 107 x 69



Combination +
width (cm)

Net weight 
Without 

packaging 
(kilos)

Gross weight
With packaging 

(kilos)

72 74

43 45

35 37

Height (cm) : 80/102 Depth (cm) : 105
Seat height (cm) : 48 Seat depth (cm) : 57
Armrest height (cm) : 58/66 Armrest width (cm) : 25

Type of packaging :

Upholstery : 

Category 20

Category 30

Category 40

Furnishing : 

Seat Density (kg/m3) : 35

Back Density (kg/m3) : 22

Arm Density (kg/m3) : 30

Suspension seat : 

Dimensions in packaging (cm)
Length x depth x height

Bullpack reinforced with cartboard

107 x 233 x 69

107 x 107 x 69

102 x 162 x 69

Leather Soprano : cowleather, thickness of 0,9 - 1,1 mm

Leather Maestro : cowleather, thickness of 1,3 - 1,5 mm

Leather Generoso : buffalo leather, thickness of 1,3 - 1,5 mm

PU foam

PU foam

PU foam Flocca

Flocca

Pocket spring

Z-Spring/Nossag Webbing/Sangles



Legs : Height : 12,5 cm

Seating cushions : 

Interior structure : Solid pine wood + Class E1 wood particleboard panels + 
hard or cellulose wood-based panels

3 colors to specify : 1 for model
1 for detail (arm)
1 for stitching (matching or contrasting)

Wooden Plastic Metal

Fixed Loose



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X3

M8x30

ZQ

X9

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

X2           

2LZPIL3535125NE

G

G

H+3Q

H+3Q H+3Q

G



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X4

M8x30

ZQ

X12

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

H+3QH+3Q

H+3Q H+3Q



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X4

M8x30

ZQ

X12

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

H+3QH+3Q

H+3Q H+3Q



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X4
M8x30

ZQ

X12

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

X1           

G

H+3QH+3Q

H+3Q H+3Q

2LZPIL3535125NE

G



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X4

M8x30

ZQ

X12

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

H+3QH+3Q

H+3Q H+3Q



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 
 

NOTICE DE MONTAGE

 
 
 
 
 

 

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

X4           

2LZPIL3535125NE

G

GG

G G



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X3

M8x30

ZQ

X9

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

X2           

2LZPIL3535125NE

G

G
H+3Q

H+3Q H+3Q

G



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X2

M8x30

ZQ

X6

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

X2           

2LZPIL3535125NE

G

G

H+3Q

H+3Q

G



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X2

M8x30

ZQ

X6

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

H+3Q

H+3Q



 
  

 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 

          

 

 

 

 

 
 

NOTICE DE MONTAGE

X1X4

M8x30

ZQ

X12

H

 
 
 
 
 

 

           

 
 
 

CONSIGNE POUVANT VARIER LOCALEMENT > WWW.CONSIGNESDETRI.FR

PEPE

H+3QH+3Q

H+3Q H+3Q


	Blad1

